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And on the garments of an ignoramus - YORT QY 57A2 o5

Overview
One of the six Moo which they were X210 M3 on in XWX, was the garments of
vXR7 "ny. There is a dispute between *"w1 and Moo why they were X210 M3 on
VORI QY 2722,

- RNV 1YY D19 1959 01927 939 *)ats 19w 015y 1911
For the 7127 were 913 on the y7X7 "ny that they should be like 1527 in all their

matters, and even the spit of an YR 2V is R»w -
= NIND QYT NN QIVN N9 (3,00 97) ? A3n1 NINa 7992 9INT

As SR states in the last P95 of 73°an noon regarding 797Y2 2137 0°%5 which

require WTP? 12°20 is on account of a 577°13 because of the spittle of an 7'y -
- 219 YMINUIY KON ‘NP 198 19W 919 N1 NPV 1999N)

But even the spit of a n» RX»v is not X»u», so why should the 217 of an 7"V be
Xnun, rather we must say because the 1127 made an 77"V like a 37, so his P11 is xnun
o) —

NI90IN cautions:
= 7195y 193 XYW S0979) *0orAn 11y

Except regarding the X210 of 8972 v, which they were not 913 on an 17"V -
- 129 19395¥ *0223)2 DNN SINPT 0 mwn t pa9) MINV NIVNI PNTH

As we learnt in a /mwn» in 97w noen, where the mwn states there, ‘thieves who
entered into a house -

" In our n1m3 the text reads 733 290 931 (not >732 931). The meaning in any case is that YR Y 732 are poOn XY,
The nxnw of an 71"V is (considered as) a R based on a Poo.

% The laws of a a1 (one who has a certain emission of bodily fluid) are enumerated in the 70 (in 10-2,70 [¥M%A] RIP™).
They include that he is &nv» anyone who is in contact with him; his spit is Xnvn (like an 7%n107 2X) and he is also
0012 Xnun and is AWM 20WH R1vA (see footnote # 5 & 6).

? See the mawn there on 2,5 which states that 2°5 which were completed 77703, nevertheless they require 77°2v if one
wishes to use them for wmp. The reason is because we are concerned perhaps it came in contact with the spittle of an
1"v. This proves that even the 11 of an 71"V is Xavn, something which is unique to a 17.

* The P17 of a N Xnv is a WR and cannot be 0°%5 Rnwn. See ‘Thinking it over’.

* o’ means moving; if a 21 moves an item it becomes X1 (even if he did not touch it with his body)..

% 997 means anything which the a1 puts his weight on, such as on a chair or bed even if he did not move them (they
are referred to as 2291 ,2w1 ,20Wn). An 1"¥ cannot convey nXn1Y through VO or 0777,

7 They were not 7113 on vo°7, for then no one would hire an 7"y as a porter (which the 2121 needed). Similarly it would
be difficult to avoid 077 nXnw, however people can be careful avoiding touching or coming into contact with the spit
of an 7"y.

% 0213 are presumed to be 71"y and the 7xmw of 7"y applies to them.

1
TosfosInEnglish.com



732 531 7"7 '00 2,00 naw L7032

- PPYN DXYIIN PRNVM ) D1 D220 O9)9 BIPN NN NIV PN
Only the place where they walked is 8»v, and what are they x»u», food and

drink; we assume that they touched the Ppwm 721X -
— 9110 mawim maswm "orns Y 99mn v9n v9a Yax

However an earthenware utensil which is surrounded with a 9>np %% and

similarly mawimy n1aswn are 7 -
- ¥xnv 990 Pawn Ix 79993 1nny v o)

However if there is a gentile or a woman among the thieves everything is 8»w’ -
- 173 YN DOION DY WINYY *79997 597 33 YIWUM (0w 3,80 97 pos) PPTIINA)

And it also seems so in °P137 P9 that an 7"V is not v0°72 XavH. For the X113 asks
there, ‘but let us be concerned that that his (the 17"v) wife who is a 772 moved

them’, which will make the 820 72170 -
- 16\?7’11:1 NNPOVN N NIDT yIvnN

This indicates that the 7"y will not be 8»wu» through wos7 —

NN discusses a similar issue
= HYYIIDTI 139N NPV 1PV 17111 NIND OY DY RNIY 1OUINT YIRPT 2 12719 PV I

And also what the 71w» states that one of the Mp°90 1 is 19?17 POV, it means that
we are concerned, perhaps this 711 is from an 7'y whose 711 is 8%, this is in
accordance with what I have explained that an 7"y has the 77 of a 21 —

mooIN is now returning to the explanation of YR QY *732:

? 90 Tm¥ means that it is tightly covered. A 071 *23 can only be Xm0 22pn from its airspace; if it is covered with a
2N Y it cannot be TXMIY 72pn (even nian MR2) since the axMv did not enter its airspace. The only exception is
ar3 voon, if the 21 moved the 077 °93 it is IR Yapn. This is derived from the P09 (in 2° 0 [¥yMxA] Xp*1) which
states M2W° 217 12 VI WK WA 0901; see >'wA on the Pos.

19 See footnote # 6. This is 01T NXM.

' This proves what moon said that even though they were 713 on 71"y to be like %21, however they excluded them
from being 07721 v 7 XnMWA, therefore the NAWIN MW 07 *23 are L.

'> The o>nan were 1 that a 131 should be like 271, even to be 57711 BO* XnwR.

> We are concerned that she is a 771 or 7721 where she too is 07721 b0 Xnun.

'* We see from here that there is no 0171 0v°71 X by an 7"y (only by a 7wKY *23).

' The &3 there cites a X012 which states that one can deposit 7170 by an 7"y if it is 1D 7% Apma.

' If an 7"y is vO°712 XnWY, the Xn3 should have asked that he will be ©v°on the 7170 (why ask only about his wife)?!

" However P17 P90 1172 °"w1 explains that it may be 2177 217 (not 7"'Y P17 as MdOIN explains).

'8 According to the X"wnm the explanation here is that '01n is saying when the x7»3 states 1217 290 931 (but it does
not say 11"y 9w 1°P1) it could mean ether of two things (that is the meaning of the word X»w in '01n); either we are
discussing the P17 of an 11"y which is considered a Podn XM, or it can refer to and P17 which is PoON KMV since it
may be 2177 P11 (as *"w explains). The way to read this line of '01n according to the RX"w17n is; J°wW»nT 191 PO 53N
(concerning 1’11 which the 71wn says we are concerned about it and so we burn the 717n), the reason for this
concern is either (that is the meaning of Xn¥) because it is the *X71 17 of an 7"y (which 7"y nXmv is considered a
»90), or (which '0in does not say) 17 and for we are concerned that perhaps it is 21 5w 311 (as >"w explains it).
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And not like the interpretation of >''w9 who explained that 7''y 5732 are Xnv
because we are concerned perhaps his ;771 wife sat on them.

Summary
1"v 732 are Xnv because they are like 7721 except for 077121 VO NRAL.

Thinking it over

Moo proves that the 0251 made the 7°212 7"v from the fact that we are wwn that
spit from the 7"y fell on the 0"99:%° however even the P10 of N XMW cannot be KL
o*2.>' This proves that an 7"y is like a 21. However we can argue that 11277 all
TPWn can be 0°93 ®nwn (this is one of the 727 1"),** how can we prove from X711°X
71"v7 that they made them like 122121%

19 9"y 31 0 Y31 7"73. This " disagrees with '01n explanation of yIX7 oy >732. The PP poo a"7 *"wn also
(partially) disagrees with '01n explanation of 1?17 pod. See footnote # 18.

2 See footnote # 3.

1 See footnote # 4.

2 See 2,3,

> See " Sw naw.
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